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(b) There are 2 problems :

(i) y -t can be negative : e o g .
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M) (a) If for some itj , Xi-XjT , then
either Di,j are both in [1--

,m]

on gi ; are both in Gril , ..., my

and
one each of i,j are in one of each

of E1 , --. ,my and Smal , ...my

Conversely , if its are both in [1 , --, my

with itjo then ThankyeselsT ,
and

similarly if they are both in Gmes, -- > n]

or if one is in El-ymly , the other in

Gril , --, my · Hence the equation holds

(b) Taking Moula
,
we haveThe is

written as the M (AND) of two Thank
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the latter of size no



Hence Ln2th -

(C) By induction on :

for k = 1
,
n = 2" = 2

, nloghh=201 , and
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, 1Xy

,

which is of length 2 .

Hence this holds for k=

Assuming it holds for somek , then

Lyk = 2(yk + 2k+

= 2 - 24.k + 21

= z((k + 1)

so it holds for K+1
· Hence

, by induction ,

it holds for all k.

(d) (a
,

b
,c) is a slight variant , which is

of the same size but is the OR of

more clarses. For example,






